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PID method

If( p<1.6 && (lisTOFAvailable)) continue; clean pid

If(IsTOFAvallable) nsigtof_X
else nsig_X hybrid PID

reco _
EDO - EAccept@) €Track

€ETrack = €Tpc & €pID

€pID_clean = €noy * €TOF * EA%

€pID_hybrid = €noy " €ETOF * €x1 T €Engy ° (1 — €ror)
oy



TPC tracking efficiency
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TOF matching efficiency
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TPC cut efficiency

Insigtofpi| < 0.1

. . 2/ndf 1.525e+05/139
nSigmaPion —5.0, 50 - x
5 g h_nSigmaPion [ ] 1.2 po 1.014 + 6.635e-05
E E Eniries B2EET 140407 -
o = Mean x 06984 1= )
E E Mean y 01269 r Const_Fit = 1.01446
5 ot |
2k 0.6 ¢ s
E - ® mean
15_ 0.4]—
0 = Const_Fit = 0124869
-1 -
= 0
-2F- - e
-3F -0.2—*
E— -0.4— .
g T A RS S B SN R
N = 0.5 1 1.5 25 3
0 p (GeV/c)
P(GeVic) -
P =~ P1+P2 =~ 95.4% 4 4K 3
Note: nsig_x from calculation between Bichsel function and measured - R
dE/dx value, mean value 0.15 shift or a small shift has a small effect on =t
verdicting x. - . n .
P 1 : 1 . O nSigmaPion o

Insigpi| < 2.0 = 2<0> P2 = 95.4%



(0.2, 2.06] ~ [-5.0, 5.0]
(2.06,3.0] ~ [-2.0, 2.0

| S

TPC cut efficiency
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TPC cut efficiency
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TOF cut efficiency
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TOF cut efficiency
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TOF cut efficiency

caseZ2 |nsigk| < 2.0
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TOF cut efficiency

caseZ Insigk| < 2.0

hnsigtofk0 hnsigtofk0
h_P_50 4000 _ h_P.S0
e : Entries 5231354 - Entnes 1&?;35@1;511
— aan =1.

"T gtedagav ‘Eﬁ%ﬁ 35001~ Std Dev 2,092

8000 j— x2 I ndf 582.4 / 197 - ~2 | ndf 970.6 / 197
Constant 6304 = 9.3 0 Constant 1429 « 4.3

i Mean -0.1841+ 0.0008 - ‘ ! Mean -0.353 = 0.003
6000 B Sigma 0.6117 = 0.0010 2500 — h i Sigma 0.7181 = 0.0032

R i

i \ 2000}
W s.\ 1500|— |

| & :

L, 1000 j (f‘
2000} - 4}'

: o/

i 1 | 1 1 1 | 1 | 1 ] 1 1 1 * ] ﬂ : 1 1 1 | 1 1 1 L |

'/ 2 0 o 2 4 2 0 2 4
p=1.2 p=2.0

pion contaminent




TOF cut efficiency
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TOF cut efficiency

Casez |nSng| < 20 /\ efficiency

The gauss Fit does not apply, a count ratio to extract efficiency.
Note: count ratio method is consistent with gauss fit for other points.
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Zy

Vz (-35, 25) event plane index for mix_event method;

* nsig_Xshift 0.13/0.15 & nsigtof_X shift -0.16 (-0.2 for pion);

* 60-80% get weight.

* Pure template pion sample to calibrate kaon




